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Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 7193991165
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 71939922037 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Arrange the giver words in the sequence in which they oCcur in the dicticnary.

1. Arrogant

2. Arrogance

3. Arorratic

4. Arormation

5. Aromapheutic

Options:

1. % 53412
2. % 543212
3. ¥ 53421

4 % 54321

Question Number : 1 Question Id : 71939922037 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
TrafeTET deaf ot degwte § o7 o0 #7 & SRfaR ford

1. Arrogant

2. Arrogance

3. Aromatic

4, Arormation

5. Aromapheutic

Options:

1. % 53412
2. % 543212
3. ¥ 53421

4 % 54321

Question Number : 2 Question Id : 71939922038 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& series is given with one term rmissing. Select the correct alternative from the given ones that will complete the

SETIES.

GPE, NGE, UXT, 7, IFL
Options:

1. % END

= ¥ BOC

3% CMC

4. % DMND



Question Number : 2 Question Id : 71939922038 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T S foa T g, e & uw ug | 81 o o et | & 9 a5t Ewed g, S g O

GPE, MGE, UXT, ?, IFL
Options:

1. % END

2. ¥ BOC

3% CMC

4 % DND

Question Number : 3 Question Id : 71939922039 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question, four letter pairs are given. The letters on left side of (-) is related to the letters on the
right side of {-) with some Logic/Rule/Relation. Three are similar on basis of same Logic/Rule /Relation. Selact
the odd one out from the given alternatives.

Options:

1. % OT - MR
2. % R&A-PY
3. ¥ PO -1N3
4 % LN -]JL

Question Number : 3 Question Id : 71939922039 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % 0T - MR
2. % RE&-FPY
3. ¥ PO -NS
4 % LN - ]JL

Question Number : 4 Question Id : 71939922040 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ir1 the fOllDWiﬂg questiorn, select the related words from the given alternatives.

Wehicle  Car ;o Tool 7
Options:

1. % Cut

2. ¥ Knife

2. * Round

4 % Eike

Question Number : 4 Question Id : 71939922040 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % @reAr

2 ¥ o

SRR RN |

4 % gEw

Question Number : 5 Question Id : 71939922041 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, select the related word pair from the given alternatives.

PEM . OO 0 7
Options:

1. % BOM . APM
z W JAP KIQ
2% SIT . TJU
4 % ZOF  BNO

Question Number : 5 Question Id : 71939922041 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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PEM ;. QDo 2 7
Options:

1. % BEOM : APM
2 ¥ JAP KZQ
=% SIT . TJU
4 % ZOF: BENO

Question Number : 6 Question Id : 71939922042 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In a certain code language, "‘GON’ is written as ‘23, 'PAD’ is written as “18". What is the code for 'TIR' in that
code language?

Options:
1. %51
2. % 45
2% 46
4. ¥ 44

Question Number : 6 Question Id : 71939922042 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

U T #E 9T H GON #1°32 TeEraETs, PAD F11E WEIAETE sHEE AT H TIR & FIE #4757
Options:

1. % 51



2 % 45
3. % 46
4. ¢ 44

Question Number : 7 Question Id : 71939922043 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

L is the father of P. R is the sister of P. 5 i5 the only son of B L and ¥ have only one daughter. How is P related
to 57

Options:

1. % Uncle

2. % Father
. % Brother
4. % DMNephew

Question Number : 7 Question Id : 71939922043 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

LPFIUaTAR, P agad S, R FT @A [T 31 L 7TV &7 Fae 0 [ 31 P, § & T W siamee 27
Options:

1. ¥ @

2 ® T

3 %

4, 8 o=

Question Number : 8 Question Id : 71939922044 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A teamof five members has to be formed outof Smen P, O R, Sand Tand & worren : [, K, L, Mand M.
Following conditions should be kept in mind.

(&) BAITIam two wormen should be in the tearm.
B 5 will not e in the same team with P

21T and O wall always be in the same tearm

0 B will not e in the same team with J.

E)If K i5 selected, then M will also be selected.

which of the following tearns can be formed?
[ TQREM

II. FETQL

I, JMESC

IV, STQIN

Options:

1. % Both II and III
2. % Only I

2% Only IV

4 % Both [ and IV

Question Number : 8 Question Id : 71939922044 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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I. TQRKM

II. FRTCL

II. JMKSC

IV. STQIN

Options:

1. % 11 eIl 3=t
o % FEAl

3 % FEAly

4 &1 TV 4T

DO E

Question Number : 9 Question Id : 71939922045 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Ten boys E1, B2, EZ, B4, BG, BE, BV, BE, E9 and E10 are sitting in a row facing towards north ot necessarily
in the same order). Only four bovys are towards the left of E9. BE is fourth to the right of ES. Mo boys is
towards the left of EZ2. ES is to the immediate right of EZ. E4 is not towards the right of E6 and not towards the
left of B9, Bl is second to the left of EY. BY is third to the right of E2. Only two boys are sitting towards the
right of BS. If BS is to the immediate left of BE, then how many boys are sitting between BE10 and BE?

Options:

1 =5

2 =7

2 VB

4. % 3

Question Number : 9 Question Id : 71939922045 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T @e® B1, B2, B3, B4, BS, BE, B7, B, BY TUTB10 Uk Uk # Fo% w1 #f1C 0@ @ dd FU & (1001 751 1 561 7A # gl B9
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o g0 71 9 BS, BE TiF ot & g, BlDMBsa%maﬁmﬁmaﬁgq%‘?

Options:
1. % 5
z. w7
IV B
4. % 7

Question Number : 10 Question Id : 71939922046 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



In the following question below are given some staternents followed by some conclusions based on those
staternents. Taking the given statements to be true even if they seem to be at variance from commonly known
facts. Read all the conclusions and then decide which of the given conclusion logically follows the given
Statermnents.

Statermnents:
[. Some red are hoys.
II. All boys are smiall.

Conclusions:

[ All boys are red.

II. Some small are red.

Options:

1. * Only conclusion I follows

2. % Cnly conclusion 1T follows

2. % Both conclusion I and IT follows

4. % MNeither conclusion follows

Question Number : 10 Question Id : 71939922046 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % el Tmepy 1 SIe &ea g

2. el Teee 11 STer #aT g

3. % gl Tmey [ F2TI SgE FWd &

4 % i ot e srgev A5l awar g

Question Number : 11 Question Id : 71939922047 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question below are given some staternents followed by some conclusions based on those
staternents. Taking the given statements to be true even if they seem to be at variance from commonly known
facts. Read all the conclusions and then decide which of the given conclusion logically follows the given
staternents.

Staterments:

[ MoTisE.

II. Some E are E.
III. Mo Tis J.

COnclusions:

[ MoK is ]

II. Some Jarenot T.
III. 5ome R are J.

Options:



1. ® Both conclusion I and II1 follows
= % Only conclusion I follows
3. ® Both conclusion I and 11 follows

4. % COnly conclusion 1T follows

Question Number : 11 Question Id : 71939922047 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % it fermerd 11 a0 L1 ST o &
2. % e T 1 SIged FaT

3. % g1 Tmere | FT I STE FHG §
4, e Teay 11 SIe FaT &

Question Number : 12 Question Id : 71939922048 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
fleR2T4=12and35R7T2=7,then 40R 20T 2 ="

Options:
1. %8
2 V5
3 % 4
4 % 10

Question Number : 12 Question Id : 71939922048 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A 16R2T4=12FM3ER7T2 =75, a40R 20T 3 =7

Options:
1. %6
Z V5
3 % 4
4. % 10

Question Number : 13 Question Id : 71939922049 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If P’ means +, "% means "+, ‘B’ means - and ‘5 means ", then which of the following equation is true?
Options:



1. ¥ 16P19Q57512R11 =7
2. ¥ 130182542P16R4 = 15
3. % 11P16CQ235112R14 = 71
4. % 1858CQ4P19R23 = 27

Question Number : 13 Question Id : 71939922049 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

afe P wranf 4, Q) ke R T arf - g st @ et o g, A1 Tataad # & o ar armer agt 27
Options:

1. # 16P19057512R11 =7

2 ¥ 130182542P16R4 = 15

3. % 11P16Q235112R14 = 71

4. % 165804P19R23 = 27

Question Number : 14 Question Id : 71939922050 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Identify the diagram that best represents the relationship among the given classes.

Stool, Teacher, Furniture
Options:

4.V

Question Number : 14 Question Id : 71939922050 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TE T I AT At T T A o S o Here o @Rl HE0T wear o)

LA, ATE, Bl la]
Options:



4. v

Question Number : 15 Question Id : 71939922051 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
Howr tiany are male lawyers?

Farmer
\ Male

16

8
/ 6
12
Lawyer
Options:
1. % 14
2 ® 42
3. ¥ 48
4 % g

Question Number : 15 Question Id : 71939922051 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



8
Fehrel
Options:
1. % 14
2 % 42
3.9 48
4. % g

Question Number : 16 Question Id : 71939922052 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Sumarn walks 26 km towards west. She turns left and walks 12 km MNow she turns right and walks 14 km. She
again turns right and walks 12 km. She finally turns left and walks 11 km. How far and in which direction is
she now from the initial point?

Options:

1. % 29 lon, West

2. % 51 km, North west
3. ¥ 51 ki, West

4. % 39 km, Morth west

Question Number : 16 Question Id : 71939922052 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % 29 TpAT, okem

2 % g1 WF AT, T uEm
3. ¥ 51 fr AT, ufsSm
4 % 20 FF AT, T U

Question Number : 17 Question Id : 71939922053 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Point K is 16 km towards the west of point J. Point T is 29 km towards the north of point J. Point Jis 12 km
towards the south of Point 5. Point & is 10 km towards the north of point B, If the point K is 144 km towards
the west of point <, then in which direction is point K from the point 57

Options:



1. % West

= ¥ South west
3. % South east
4. % MNorth east

Question Number : 17 Question Id : 71939922053 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % gm

2. Ziger ok
3. % gl o
4 % Fm O

Question Number : 18 Question Id : 71939922054 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following questiorn, select the odd figure from the given alternatives.

6
©
|©

Question Number : 18 Question Id : 71939922054 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 19 Question Id : 71939922055 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25

A big solid cube is painted with red colour on two opposite faces, vellow colour on two adjacent faces and
grecn Colour o1l remaining two faces. Mow 2 cuts are made on each axis of this cube and then some small
culbes are obtained. How rmany srmall cubes will have one face painted with red colour and one face painted
with vellosw colour?

Options:
1. % 16
2. % 20
3% 14
4 % 12

Question Number : 19 Question Id : 71939922055 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. = 18

2. % 20
3. ¥ 14
4 ® 12

Question Number : 20 Question Id : 71939922056 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Ev folding the given paper, which of the following cube cannot be made?

A|D
7T
3
B| 4

W @

Options:

1. % Cnly 111

2. % Only 11

% % BothIand Il
4. % Both Il and III

Question Number : 20 Question Id : 71939922056 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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AlD

7

3

Bl 4
I II I11

Options:
1. ¢ Faa il
2 % Fadll

3. % [ Furll =+t
4 11 FoTI 4T

ereral Awarenass
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Group Maximum Duration : 0
Group Minimum Duration : 0

Revisit allowed for view? : No



Revisit allowed for edit? : No

Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

General Awareress

Section Id : 719399970
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Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
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Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 71939922057 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
"Bromalu® in which Goddess Mahalal 15 worshipped 15 celebrated in

Options:

1. % Telangana
= % Karnatala
3. % West Bengal
4. % Odisha

Question Number : 21 Question Id : 71939922057 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

e e 2t wETeRTe o oo TR, T S 2
Options:

1. & FamET

2 % Flew

= ® O e

4 % apfZam

Question Number : 22 Question Id : 71939922058 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Dancing postures of the Chowk and the Tribhanga are associated with which classical dance form?
Options:

1. ¥ Bharatnatyarm



2. % lathalali
= % Odissi
4. % Euchipudi

Question Number : 22 Question Id : 71939922058 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

= T T Y e e e et 9o Sl g
Options:

1. ® aadrem

2. % meIEaT

3. ¢ anriEEt

4 % gyt

Question Number : 23 Question Id : 71939922059 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The (fixed) interest rate at which the Reserve Bank provides overnight liquidity to banks against the collateral
of government and other approved securities under the liquidity adjustment facility (LAF) is known as

Options:
1. ¥ Reporate

2. % Reverse repo rate
3. # Bank rate

4. % Marginal rate

Question Number : 23 Question Id : 71939922059 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
% = oF () o o Toed s aeeaT QR e (TAUTH) & 50 R oK o SRjAffed Wit o auawd &
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Options:

1. ¥ o Er

o ® frgdrar
3 R dwar

4. ® AT o

Question Number : 24 Question Id : 71939922060 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

______ i5 also responsible for maintenance and management of data on inward foreign direct investment into
India based on the remittances reported by the Reserve Bank of India.

Options:

1. % SEEI

z % Departrment for Fromotion of Industry and Internal Trade
3. % REI

4. % NABARD

Question Number : 24 Question Id : 71939922060 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
Wﬁgﬁéﬁmﬁﬁﬁﬁqmﬁwﬁ?wmmﬁmm&rﬁ]&&ﬁﬁ%&rméﬂﬁweﬁrmﬁﬁq ______ AT

Options:

1. % =&t

2 o FET e A i s e
I % e A

4 % qEE

Question Number : 25 Question Id : 71939922061 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the foll-::-wing alement doesn't react with diluted h?dl’@CthI‘iC acid ever on heating bt reacts with
sulphuric acid?

Options:

1. ® Magnesium
= % Sodium

3. % Irom

4. ¥ Copper

Question Number : 25 Question Id : 71939922061 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
gﬂﬁﬁﬁﬁﬁaﬁﬁmaﬁraﬂs@ﬁﬁm T & T e o ot et Tt o, weg 9% Sergiar ane o arratiar e o

Options:

1. % Bftfdm
2 % gifzaw
3 % F@ET

4, & HOL

Question Number : 26 Question Id : 71939922062 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
______ 15 presernt at the growiang tips of sterns and roots and increases their lerigth.

Options:

1. # Lateral meristermn

= % Intercalary meristern
2. ¥ Apical meristern

4. % Hylemn

Question Number : 26 Question Id : 71939922062 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. ® qpdf enaaw

2. % agie TeaTw

2 ¢ dnfer et



4 % FJEaA

Question Number : 27 Question Id : 71939922063 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhich of the foll-::-wing Staternents regarding ultrasound is correct?

[. Ultrasound is ernploved to break small ‘stones’ formed in the kidneys into fine grains.

II. In echocardiography technique, ultrasonic waves are made to reflect from various parts of the heart and
form the image of the heart.

Options:

1. % Only I

2. % Only 11

3. % Both [ and 11

4. ® Meither I nor II

Question Number : 27 Question Id : 71939922063 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % ]

2 % Fadll

3 ¥ ] qETll 3t
4. % FUEr] ATEIII

Question Number : 28 Question Id : 71939922064 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following rivers drains Chotanagpur Flateau?

Options:

1. % Damodar river

2. % Chambal river

2. % Erahrnaputra river

4. % Godawari river

Question Number : 28 Question Id : 71939922064 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. gHlET A4

2 % e Agr

3. ¥ oRIgA

4. ® TEmEcr AT



Question Number : 29 Question Id : 71939922065 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Indira Sagar Darmn 1s built on which river and in which state?

Options:

1. % Pench - Maharashtra

Z % Pench - Madhva Fradesh
3. % Narmada - Maharashtra

4. ¥ Narmada - Madhya Pradesh

Question Number : 29 Question Id : 71939922065 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % U - AgwTE

2 ® Ug - meg Uy

3. % T - MR

4. & qHIT - g R

Question Number : 30 Question Id : 71939922066 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
______ 15 rich in 501l nutrients, such as calcium carbonate, magnesiam, potash and lime.

Options:

1. % Black Soil
2. % Alluvial Soil
3. % Arid Soil

4. ® Laterite 5oil

Question Number : 30 Question Id : 71939922066 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. & wEgaT
2. % SR e
% % mEEerE gar
4. % FEmEcHar

Question Number : 31 Question Id : 71939922067 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Capital of the kingdom of the Pallavas was

Options:
1. # Kanauj
2. % Madras

2. ¥ Kanchipuram



4, % Mysore

Question Number : 31 Question Id : 71939922067 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ueetd! o T2 T T T o

Options:

1. ® Fge
2. % g
2. ¥ Wi
4 % Iy

Question Number : 32 Question Id : 71939922068 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhich of the following statements regarding Erahmo Samaj is incorrect?

Options:

1. # It prohibited all forms of idoltary and sacrifice.

2. ¥ It didn't believe in the Upanishads.

3. % It forbade its members from criticising other religious practices.

4. % It critically drew upon the ideals of religions Hinduism and Christianity.

Question Number : 32 Question Id : 71939922068 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 33 Question Id : 71939922069 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Ashwaghosha, a poet who composed a biography of the Buddha, the Buddhacharita, lived in the court of
which ruler?

Options:

1. # Ashoka

2. % Gautamiputra Shri Satakarni
= ¥ Kanishka

4 % Bindusara

Question Number : 33 Question Id : 71939922069 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % ararie




2. % T AT Fawi
z ¢ FimEm

4. % Tevgan

Question Number : 34 Question Id : 71939922070 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who was appointed as the Chairmarn of Association of World Election BEodies (AWEE) for the term 2019-217

Options:

1. # 3. Y. CQuraishi

2 % Sunil Arora

2. ® Hari Shankar Brahmma

4 % % 3 Sampath

Question Number : 34 Question Id : 71939922070 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
2019-21 % TS & 6T QHITETET S1E gra Soida a1e i (T Sel 3 ) o oy & o # e g T mame

Options:

1. % ga g g
2. ' FHIe SIS

3. % gir s wg

4 % o1 uH 6T

Question Number : 35 Question Id : 71939922071 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

which of the following project was launched by Khadi and Village Industries Cormrnission (VIC) 1o make
carry bags by mixing processed and treated plastic waste with cotton fibre rags?

Options:

1. ® REFLACE
= % REPLAN

3. % REUSE

4. % RE-INVEST

Question Number : 35 Question Id : 71939922071 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % foae

o ¥ foae

3 % O

4 8 I - el

Question Number : 36 Question Id : 71939922072 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Wwho is the head of the comrmittee that has been constituted by the Union Governrment to oversee the
bifurcation of Jarrorm and Fashror (&) into Union Territories?

Options:

1. % ajit Doval

2. % Sunil Mehta

2. ¥ Sanjay Mitra
4 % Ram Madhav

Question Number : 36 Question Id : 71939922072 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % arig S

2. % giier ogdr
3. o oo T
4. ¥ AT

Question Number : 37 Question Id : 71939922073 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

“Method of election of the President” provision has been borrowed by Indian constitution from
Options:

1. ® US4 Constitution

2. % Irish Constitution
3. % Canadian Constibution

4 % pnstralian Constitution

Question Number : 37 Question Id : 71939922073 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % Howm U= ST BT i
2. ¥ RS @ Hica

% % FATST BT Hige

4. % STEd o B e

Question Number : 38 Question Id : 71939922074 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Wwhich of the following special powers are bestowed upon council of states by Indian constitution which are
not enjoyed by House of people?

[. It can authorize the Parliament to create new All-India services Corronon to both the centre and state,

II. It can authorize the Parliament to rrake 3 law on a subject enumerated in the state list
Options:

1. % Only I

2. % Cnly 11



2. ¥ Both [ and II

4 % MNeither I nor 11

Question Number : 38 Question Id : 71939922074 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % aal

2. % Fadll

= o [ garll FEt
4. % FTErIATRIII

Question Number : 39 Question Id : 71939922075 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
FIFA World Cup 2022 wall ke hosted by which country?

Options:

1. % Catar
= % EBrazil
2. % France

4. % Saudi Arabia

Question Number : 39 Question Id : 71939922075 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. ¥ Fax
2 % Fgre
3 % me

4 ¥ gt ama

Question Number : 40 Question Id : 71939922076 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

2019 Asian Snooker Charmpionship was won by _____
Options:

1. #¥ Subhash Aggarwal

Z % Lucky Vatnani

2. ¥ Pankaj Advani

4. % Yasini Merchant

Question Number : 40 Question Id : 71939922076 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % gAY STIETeA

2. % T FaaET

3.V T ST

4, % W we
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Question Number : 41 Question Id : 71939922077 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What is the value of x: 3hx_g_4—¢°

Options:
1. % 12
> W 24
3. % 36
4 ® 7



Question Number : 41 Question Id : 71939922077 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
3r3x—8—4=0, x FT AT FAT 2?2

Options:
1. % 12
= W 24
2% 36
4 % 7

Question Number : 42 Question Id : 71939922078 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

If sum of two numbers is 15 and surmn of their square is 113, then what is the product of two numbers?
Options:

1. ¥ E&

2% 112

=% B0

4 % 28

Question Number : 42 Question Id : 71939922078 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1. ¥ c6
2. % 112
2 % 50
4 % 28

Question Number : 43 Question Id : 71939922079 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
what will be the ratio of the Least Cormmon Multiple and Highest Cormrmon Factor of the 10, 20 and 207

Options:
1. % 2
2. % 4
2 VB
4 % 3.

e

Question Number : 43 Question Id : 71939922079 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1.% 2:1
2% 401




3.¥v 61
4 % 3:1

Question Number : 44 Question Id : 71939922080 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

0.08

—2/3 —4/3
If A= (243)%1% x (243) : ] : [ : ]

216) (27

and B = [

then what is the value of B/A?

Options:

Question Number : 44 Question Id : 71939922080 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

1

27

0.08

Ty A =(243)%12 x (243)

; adl3
[ ar B/A T AT T 22

o

—4/3
216 ]

Options:

1.9 4127
2 % 4
3. %3

!
!
!
4. % 3

=
3
4

Question Number : 45 Question Id : 71939922081 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What i3 the greatest © digit nurnber which when divided by 4 and S leaves remainder 37

Options:

1. % 99928
= % 99953
3. ¥ 999283
4 % 99987

Question Number : 45 Question Id : 71939922081 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1. % 99328

2. % 99953
3. ¥ 99983
4. % 99987



Question Number : 46 Question Id : 71939922082 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Discount offered on selling a watch is Rs. 2016, If the marked price of this watch is Rs. 7200, then what is the
discounted percentage?

Options:

1. ¥ 32 percent
= % 26 percent
3. ¥ 34 percent
4. ¥ 28 percent

Question Number : 46 Question Id : 71939922082 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % 32 s
2. % 26 UideT
% % 24 nide

4 & 28 uidaT

Question Number : 47 Question Id : 71939922083 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If & i5 14.28% less than E, then E is how rmuch percentage more than 47

Options:

1. % 1E6.66 percent
Z % 125 percent
3. # 20 percent

4. % 25 percent

Question Number : 47 Question Id : 71939922083 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % 16.66 nidsT
2. % 12 5uidad
. % 20 uideE

4 # 25 giguT

Question Number : 48 Question Id : 71939922084 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
&15 30% of B Cis 45% of B. E is how much percentage less than (& + B + )7

Options:
1. ¥ 57.14 percent
= ¥ 42 86 percent



. % 28.5E percent
4 % 3256 percent

Question Number : 48 Question Id : 71939922084 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % 57.14 uidea
2. ¥ 42 56 UidaT
3. % 2556 nideT

4 % 322 56 gt

Question Number : 49 Question Id : 71939922085 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A& 50ld a table t0 B at a profit of 40%, E sold it to D at a profit of €0%. W sold a chair L to ¥ at the loss of 20%, ¥
sold it to P at a loss of 20% and finally P sold it to G at a loss of S0%. Price at which D bought the table from B
and the Frice at which F bought the chair from ¥ is same. If the price at which W bought the chair is Es. §00,
then at what price D bought table?

Options:

1. % Es 396
2. % Rs 219
2. % Es 348

4. ¥ Rs 336

Question Number : 49 Question Id : 71939922085 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % 396 o
2 % 219w
3. % 248 v
4. ¥ 336 T

Question Number : 50 Question Id : 71939922086 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

P, @ and R are partners in a company. In any year P receives 16 part of profit, © receives 1[5 part and R
receives Rs. 28000, How much amount will P get as profit?

Options:
1. % REs 2000

2. % Rs. 10000
3 % Hs co00
4. % Hs. 9000



Question Number : 50 Question Id : 71939922086 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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FIT 51 P 1 AT & ®0 § Tepa-T 2118 oy g

Options:

1. % 3000 o
2. ¥ 10000 T
3 % 5000 T

4 ® 9000 w0

Question Number : 51 Question Id : 71939922087 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Containers I and II have milk and water in the ratio of 4 : 5 and 8 : 3 respectively. In what ratio Container I
and Container II should be mixed to get a new mixture in which milk and water are in the ratico of 16 137

Options:

1.¥18:11
2. % 12.25
3% 23011
4 % 2813

Question Number : 51 Question Id : 71939922087 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

AT | T 11 H 8 F207 U1 7 S]UTd AT 4 - STATE: 381 16 13 o Srgurd o Ser T2 U1 a1 TEsT e #- o& f@
ci:ucﬂtIEr&ncimaFﬁ T o arguTa | e Ay &

Options:
1.¥ 1811

2 % 12:25
2% 23011
4 % 283:13

Question Number : 52 Question Id : 71939922088 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Comp@und interest received in the third Wedr oIl 4 Sl 15 Rs. 442 If the annual rate of interest is 15%, then
home rach CDI'ﬂpDU.ﬂd interest will be received in the fourth w2dr Onl the same surrl? Interest is compounded
annually)

Options:

1. ¥ 5083
2. % 52453
3. % 51453
4 % 5127

Question Number : 52 Question Id : 71939922088 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:




1. ¥ 5033
2 % 62453
3. %5143
4 ® 5127

Question Number : 53 Question Id : 71939922089 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

One-third of a certain journey is covered at the speed of 20 km/hr, one-fourth at the speed of 20 kmjhr and
the rest at the speed of 50 km/hr. what will be the average speed for the whole journey?

Options:

1. % 20km/hr
2. % 30 kmihr
2. % 35S km/hr
4, % 25 kmjhr

Question Number : 53 Question Id : 71939922089 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % 20 fp o ueT
2. ¥ 30 AT T
3. % 3o TR Eer
4, % 25 Wp AT e

Question Number : 54 Question Id : 71939922090 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Two trains leave P and O towards & and P at same time. Speeds of train moving from P and & is 25 km/hr and
20 km/hr respectively. When they meet then it is known that the train coming from & has travelled 10 km
distance more than train coming from P. What is the distance between P and o7

Options:

1.9 110 km
2. % 100 km
2% 120 km
4. % 90 km

Question Number : 54 Question Id : 71939922090 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1. % 110 fFdr

2. % 100 fF
3 % 120 fm A



4. % g0 fF T

Question Number : 55 Question Id : 71939922091 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A and B together can cormplete (3 5) part of a work in 18 days. If A alone can cornplete (113) part of the same
work in 25 days, then in how many days B alone can complete (4/5) part of the same work?

Options:

1. % 48 days
2. % B0days
3. % 35 days
4 % 40 days

Question Number : 55 Question Id : 71939922091 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A T E 0o UF @7 &7 (3)5) 90T 15 %Ffﬁ‘{(‘rﬂﬁﬂﬂﬁ';ﬂ%ﬁ ST TAT 1 & (1 3) AT 25 T # @ 9w awar g,
TTE a7haT U 1 F7 (4)5) 91T TFa - T | T 3 a1 57

Options:

1. % 48 27
2. % gofeT
3 % 35 fT
4. ¥ 4027

Question Number : 56 Question Id : 71939922092 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Volume of a cvlinder is 4 times to the volume of a sphere. Their radius are equal. Sum of the radius and height
of cylinder is 122 cm. What is the volume of sphere?

Options:

40954 cm’
35402 cm’
38808 cm’

36572 cm’®

Question Number : 56 Question Id : 71939922092 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T sle BT ST e TTet o ST+ &7 4 AT 81 Il Heam] @RTa] 81 ofeld &1 3T 797 Jams &7 90T 133 |0t 81 T &7
AT FT 57

Options:




40954 W.HI3

35402 ®.HT?

S

38808 W.HI3

36572 W.HI3

Question Number : 57 Question Id : 71939922093 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Length of a rectangle PORS is equal to the length of side AE of a triangle ABEC. Height of triangle from base AE
is 8 times to the breadth of rectangle PORS. If the perirmneter of rectangle is 100 cm and the area of a rectangle

15 600 cmz, then what will be the area of triangle ABC?
Options:
3600 cm?

1. =

1200 cm?

4800 cm?
3%

4 2400 cm-

Question Number : 57 Question Id : 71939922093 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T ST PORS & arams UF e ABC 1 49T AR % aRTa¥ 31 ST AR & Tongs &1 3T smea= PORS 1 2121 &7 8 AT 31
Af ST T ORET 100 & 2 FA4T AT #7 8% 600 A HF 2 AT =Ry ABC T &thel &1 BITTY

Options:

3600 ®.HY2

1. =

1200 &.HT2

S

4800 H.HT2

3%



, o 2400 g2

Question Number : 58 Question Id : 71939922094 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The pie chart given below shows the nurmber of eggs sold by a shopkeeper in different days. The number of
eggs sold on particular day is showr as a percentage of total number of eggs sold on all days together.

D1,
Dﬁ, 1 lﬂf’ﬁ
12%
D3,
D5, 15%
\2% | o
17%%

If the total number of eggs sold are 1800, then what is the difference in number of eggs sold on day DE and
day D27

Options:

1. % 242
2. % 246
=% 250
4 & 252

Question Number : 58 Question Id : 71939922094 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
et T T o T U geRe T T Tt T # o Y sl ot e wy gaiar g1 Tt fede T3 # ok My et o e @
wdt Tt o Termere ey T e o723 | o Widad & &0 § garfer mar 31

D1,
Dﬁ, 1 lﬂf’ﬁ
12%
D3,
D5, 15%
\2% | o
17%%

afe P 1800 2 s 0 &, T D6 T qen D2 F o & My sit & g § fraar e g7
Options:



1. % 242
2 % 248
3 % 250
4 & 252

Question Number : 59 Question Id : 71939922095 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The line graph given below shows the number of trains departing from a station on different days of a week.

2500 -
= 2000 2000 2000
§
= 1500 - 1800 1600
- B
2 1000 4 1200
=
2 500 -
G T T T T 1
DI D2 D3 D4 DS
Days

Wwhat is the ratio of the nurmber of trains departing on day DS to the total number of trains departing from the
station on all 5 days?

Options:

1.% 10 43
2. % 4310
3 % 1033
4 % 3310

Question Number : 59 Question Id : 71939922095 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



et Te T T e AT o S At o U v | A ATt tamis ot o ST @ gaiar o)

2500 -

2000 2000
2000 -

1500 41390 1600

1000 - 1200

&t i e

500

DI D2 D3 D4 DS

T

DS & § S et termisat @t aweT @1 adt ol At § wae 8 A et §d (aieat 6 ST § F9T SguT a7
Options:
1.9 10 43

= ® 4310
Z % 1033
4 ® 3310

Question Number : 60 Question Id : 71939922096 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The bar graph given below shows the number of toys sold by different shopkeeper on a particular day.

1600 - 1500
1200 - higo
1900 1500 850 900 1000
800 -
600
400 A
200 A

D T T T T T 1

S1 82 S3 54 85 56

Number of toys

Shopkeeper

Wwhat is the average nurmiber of tovs sold by first 2 shopkeepers on that day?
Options:

1. % 750

= % 200

3. ¥ 550

4. % 900



Question Number : 60 Question Id : 71939922096 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
et T e are B uw i o o g gemeRt g skl g et Y aear ot gatdr g

1600 - 1500
1400 - 1200
1200 4 1000 M
1000 4 goo 850 900
800 -
600 -
400 -
200 -

Rae #r sen
o

S1 S§2 S3 S4 S5 S6
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9 et wge 1 GFHERT BT el MY TE ! o sited a7

Options:

1. % 750

2. % 500

3.9 250

4 % 900
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Group Id: 719399862

Group Maximum Duration : 0

Group Minimum Duration : 0

Revisit allowed for view? : No

Revisit allowed for edit?: No

Break time: 0

Group Marks: 20

Revisit allowed for group Instructions? : Yes

Maximum Instruction Time: 0

Minimum Instruction Time: 0

General English
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Display Number Panel: Yes
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Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 71939922097 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the given sentence that has an error in it If there is no error, choose ™o error’.

The voung soldier (1)) was brought (2)f before a king (3)) No error (4)
Options:
1.%1
2. % 2
2V 3
4 % 4

Question Number : 61 Question Id : 71939922097 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the given sentence that has an error in it If there is no error, choose To error,

The voung soldier (1)) was brought (2)) before a king (2) No error (4)
Options:
1.% 1
2. %2
R
4 % 4

Question Number : 62 Question Id : 71939922098 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Feople always (1)) admires a (2)) courageous persorn (3 No error (4)
Options:
1.% 1
2. V2
3. %3
4 % 4

Question Number : 62 Question Id : 71939922098 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the givenl sentence that has an error in it. If there is no error, choose Mo error’.

People always (1)) adrraras a (2)) courageous persor (31 Mo error (4)
Options:



1 % 1
2 2
3 % 3
4. % 4

Question Number : 63 Question Id : 71939922099 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Improve the bracketed part of the sentence.

She kept us all (@t) suspense regarding her future plans.
Options:

1.9 in

2. % on

2. % with

4. % MNoimprovernent

Question Number : 63 Question Id : 71939922099 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Improve the bracketed part of the sentence.

She kept us all (@t) suspense regarding her future plans.
Options:

1. ¥in

2. % on

3. % with

4. % DNoimprovernent

Question Number : 64 Question Id : 71939922100 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
[mprose the bracketed part of the sentence,

Don't lean against this wall, it fwould) collapses.
Options:

1. * rmust

2. % shall

3. ¥ might

4. % Do improvernent

Question Number : 64 Question Id : 71939922100 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Improve the bracketed part of the sentence.

Don't lean against this wall, it fwould) collapse.
Options:

1. #* must

2. % shall



= ¢ might

4 % IMNoimprovernent

Question Number : 65 Question Id : 71939922101 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A& sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

Wherl are you to write to your friend?

Options:
1. % zo
2. ¥ going
2. % gone

4. ® goes

Question Number : 65 Question Id : 71939922101 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

WHern are you to write to your friend?

Options:
1. % g0
Z ¥ going
2. % gone

4, % goes

Question Number : 66 Question Id : 71939922102 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

This 15 the bicycle chain 15 brokern.

Options:

1. ¥ whose
2. % that
2. % who's
4 % that's

Question Number : 66 Question Id : 71939922102 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A& sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

This is the bhicycle chairn 15 brokern.
Options:
1. % whose

2. % that
3. % who's

4. % that's



Question Number : 67 Question Id : 71939922103 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Rearrange the parts of the sentence in correct order.

F: for his behaviour

3 he is clever

E: towards his parents

5. and has an explanation

Options:

1. % REQF
2 ¥ OSPR
2. % PRSQ
4 % SROP

Question Number : 67 Question Id : 71939922103 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Rearrange the parts of the sentence in correct order.

F: for his behaviour

i he is clever

E: towards his parents

5: and has an explanation

Options:

1. % RSQF
2 ¥ OSPR
2. % PRSQ
4 % SROP

Question Number : 68 Question Id : 71939922104 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Rearrange the parts of the sentence in correct order.

F: whirling round the sun
Q) rope was tied to them
R itwasasifa

5. and they kept

Options:

1. % PSOR
2. ¥ ROSP
2. % ROFS
4 % SROP

Question Number : 68 Question Id : 71939922104 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Rearrange the parts of the sentence in correct order.

F: whirling round the sun
2 rope was tied to them
R itwasasifa

5 and they kept

Options:

1. ¥ PSCR
2. ¥ ROSP
3. % RGPS
4 % SROP

Question Number : 69 Question Id : 71939922105 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Zhoose the word that means the same as the given word.

Lovyal
Options:

1. * Permmit
2. ¥ Devoted
3. % Ban

4 % Taboo

Question Number : 69 Question Id : 71939922105 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the word that reans the same as the given word.

Loval
Options:

1. * Permit
= ¥ Devoted
3. % Ban

4. % Taboo

Question Number : 70 Question Id : 71939922106 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
_hoose the word that is opposite in meaning to the given word.

Meglect

Options:

1. ¥ Appreciate
2. % Scare

3. # Bitter

4. % Foolish

Question Number : 70 Question Id : 71939922106 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Zhoose the word that is opposite in meaning to the given word.

Meglect

Options:

1. ¥ Appreciate
2. % Scare

=, % Eitter

4. % Foolish

Question Number : 71 Question Id : 71939922107 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt
o,

Options:

1. ¥ Liaison
2. % Laison
2. % Liason

4. % Liaision

Question Number : 71 Question Id : 71939922107 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt
WOrd.

Options:

1. % Liaison
2. % Laison
2. % Liason

4. % Liaision

Question Number : 72 Question Id : 71939922108 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which one word is incorrectly spelt. Choose the incorrectly
spelt word.

Options:

1. * Library
2. % Receive
2. % License
4 ¥ Liesure

Question Number : 72 Question Id : 71939922108 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which one word is incorrectly spelt. Choose the incorrectly
spelt word.

Options:
1. #® Library

Z. % Receive



2. % License
4 % Liesure

Question Number : 73 Question Id : 71939922109 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, cut of the given four alternatives, select the alternative which best expresses the
meaning of the Idiom Phrase.

Lion’s share

Options:

1. ® Done for material benefits
2. % Completely alone

2. ¥ A major share

4. % Totally unaware

Question Number : 73 Question Id : 71939922109 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, out of the Fiverl four alternatives, select the alternative which best expresses the
ITEanIng of the Idiom Phrase.

Lior's share

Options:

1. ® Done for material benefits
= % Completely alone

2.9 A major share

4. % Totally unaware

Question Number : 74 Question Id : 71939922110 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, cut of the given four alternatives, select the alternative which best expresses the
meaning of the Idiom Phrase.

o1l the hools

Options:

1. % To be responsible for something

2. ® Very rarely

3. % Being too happy

4. % Ina bad condition and will not last long

Question Number : 74 Question Id : 71939922110 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the
meaning of the Idiom Phrase.

o the hook
Options:
1. % To be responsible for something



2. % Very rarely
2. % Being too happy
4 % In a bad condition and will not 1last long

Question Number : 75 Question Id : 71939922111 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the word that can substitute the Ziven sentence.

e who is unable to pay his debts.
Options:

1. % bale

2. ¥ insolvent

2. % Ccaucus

4. % brood

Question Number : 75 Question Id : 71939922111 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the word that can substitute the given sentence.

orie who 15 unable to pay his debts,
Options:
1. #* bale

2% insolvent
3. % Cgucus
4. % brood

Sub-Section Number: 2
Sub-Section 1d: 7193991169
Question Shuffling Allowed : Yes

Question Id : 71939922112 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (76 to 80)
Juestion Label - Comprehension

Read the following information carefully and answer the given questions.

Information and Cormmunication Technology has a major impact on the on the world in which young people
live. Sirrilarly, E-learning has considerable potential to support traditional teaching approaches, which are well
lericmieT.

& wery good example of this potential is the fact that E-learning will assist the making of connections by
enabling students to enter and explore new learning environment, overcorning barriers of distance and time.
This has another advantage because it facilitates shared learning by enabling students to join or create
corrrmunities of learners that extend well beyond the classroorm. It further assits in the creation of supportive
learning environment by offering resources that take account of individual, cultural or developrment
differences. E-learning also enhances opportunities to learn by offering students virtual experiences and tools
that save them time, allowing therm to take their learning further. Thus, all educational institutions should
explore not only how ICT can supplerment traditional ways of teaching, but also how it can open up new and
different ways of learning.

Sub questions



Question Number : 76 Question Id : 71939922113 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following statements is true about E-learning?

Options:

1. ® It gives more chances for students to learn, as it saves their time.
2. % It helps students contact other students in distant lands.

3. % [t takes care of person to person differences between students.

4. ¥ It has considerable potential to support traditional teaching approaches.

Question Number : 77 Question Id : 71939922114 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What is the major reason for the high potential of E-learning in supporting conventional teaching methods?
Options:

1. ® [t creates a supportive learning environment.

2. % [t gives more opportunities for students to learn.

Z. % It enables students to create communities of learners.

4. ¥ It is facilitated by ICT, which voung peopls understand.

Question Number : 78 Question Id : 71939922115 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhat aspects of E-learning should schools and colleges explore?

Options:

1. ® How it can help students understand learning software better
2. % How it can give rise to alternative learning systems

% % How it can support traditional teaching methods

4, % How it can give rise to alternative learning systerns and Dow it can support traditional teaching methods

Question Number : 79 Question Id : 71939922116 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhich word from the passage means the same as overcoring?

Options:

1. % Forfeit

2. % Surrender
= ¥ Surmount
4 % vield

Question Number : 80 Question Id : 71939922117 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhich word from the passage is opposite in meaning to closure?

Options:
1. ¥ Considerable
= + Enhances

% % Experiences



4. % Poteritial

Question Id : 71939922112 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (76 to 80)
Cuesticon Label | Comprehension

REead the following information carefully and answer the given questions.

Information and Cormrmunication Technology has a major impact on the on the world in which young people
liwe. Sirmularly, E-learning has considerable potential to support traditional teaching approaches, which are well
kriomer.

& wery good exarmple of this potential is the fact that E-learning will assist the making of connections by
enabling students to enter and explore new learning environment, overcoring barriers of distance and tirme.
This has ancther advantage because it facilitates shared learning by enabling students to join or create
corrrmunities of learners that extend well beyond the classroom. It further assits in the creation of supportive
learning environment by offering resources that take account of individual, cultural or developrient
differences. E-learning also enhances opportunities to learn by offering students wirtual experiences and tools
that save thern time, allowing them to take their learning further. Thus, all educational institutions should
explore not only how ICT can supplement traditional ways of teaching, but also how it can open up new and
different ways of learning.

Sub questions

Question Number : 76 Question Id : 71939922113 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhich of the following statements is true about E-learning?

Options:

1. % It gives more chances for students to learn, as it saves their time.
2. % It helps students contact other students in distant lands.

2. % It takes care of person to person differences between students.

4. % [t has considerable potential to support traditional teaching approaches.

Question Number : 77 Question Id : 71939922114 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhat i3 the major reason for the high potential of E-learning in supporting conventional teaching methods?

Options:

1. ® It creates a supportive learning environment.

= % It gives more opportunities for students to learrn.

3. % [t enables students to create comrmunities of learners.
4. % It is facilitated by ICT, which young people understand.

Question Number : 78 Question Id : 71939922115 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What aspects of E-learning should schools and colleges explore?

Options:

1. % How it can help students understand learning software better
2. % How it can give rise to alternative learning systems

2. % How it can support traditional teaching methods

4. % How it can give rise to alternative learning systerms and how it can support traditional teaching methods



Question Number : 79 Question Id : 71939922116 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which word from the passage means the same as overcoring?

Options:

1. % Forfeit

2. % Surrender
2. ¥ Surmount
4. % vield

Question Number : 80 Question Id : 71939922117 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhich word from the passage is opposite in meaning to closure?

Options:

1. % Considerable
Z % Enhances

3. # Experiences

4. % Potertial
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Question Number : 81 Question Id : 71939922118 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

To T e T Wi TeewE A i

ETIGH
Options:

1.9 T + o
2. % FHAT + AT
3% medT+ T
4 % %0 + AT

Question Number : 81 Question Id : 71939922118 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T T afeg; o7 & Tl AT ]
T

Options:

1.9 &0 + ad

2 % FET + T

3% FeUT+ T

4. ® Feq + AT

Question Number : 82 Question Id : 71939922119 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T T e # & e Hder e

EIEICAGAEFE e s
Options:

1. % wefige

o % =he

z. ¥ TEH

4 % g

Question Number : 82 Question Id : 71939922119 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 83 Question Id : 71939922120 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 83 Question Id : 71939922120 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 84 Question Id : 71939922121 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 84 Question Id : 71939922121 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 85 Question Id : 71939922122 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % gegaf
2 % gegat
3. ¢ TEqy
4 % g

Question Number : 85 Question Id : 71939922122 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % gegal
2 % gegat
3 ¥ gEqd
4 % g

Question Number : 86 Question Id : 71939922123 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T T Seg T TR Se T SR

=17
Options:
1. % 3¢
2 ¥ w@m
3. %® O
4. % aEr

Question Number : 86 Question Id : 71939922123 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T T aTeg, T Uit g ST @it

ST
Options:
1. % %
o @
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Question Number : 87 Question Id : 71939922124 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % fogo

o o e
3. % wat
4 % gy

Question Number : 87 Question Id : 71939922124 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 88 Question Id : 71939922125 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 88 Question Id : 71939922125 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 89 Question Id : 71939922126 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 89 Question Id : 71939922126 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 90 Question Id : 71939922127 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 90 Question Id : 71939922127 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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2. ® At

3. v ot
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Question Number : 91 Question Id : 71939922128 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 91 Question Id : 71939922128 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 92 Question Id : 71939922129 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 92 Question Id : 71939922129 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 93 Question Id : 71939922130 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 93 Question Id : 71939922130 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 94 Question Id : 71939922131 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 94 Question Id : 71939922131 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 95 Question Id : 71939922132 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 95 Question Id : 71939922132 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Sub-Section Number: 2
Sub-Section Id: 7193991171



Question Shuffling Allowed : Yes

Question Id : 71939922133 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (96 to 100)
Juestion Label - Comprehension
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Sub questions

Question Number : 96 Question Id : 71939922134 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

AL o FATg B IA-F TG B AT % 5 AT 27
Options:

1. % g

2 % Ty

3. ¢ St

4. % g& AT

Question Number : 97 Question Id : 71939922135 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
YT RTH, ST T ASHT o 9T T T S o § ST | 47

Options:

1. ¢ Tegag
o ® gren
2 ¥ g
4 % g

Question Number : 98 Question Id : 71939922136 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ST fore T AT ST 87
Options:
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2. ¥ SAEET

3. % gioiAr
4. % Tt ot

Question Number : 99 Question Id : 71939922137 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ST T o SfieeT # 97 WaTe Fdt 57

Options:
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Question Number : 100 Question Id : 71939922138 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. & et
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Question Id : 71939922133 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (96 to 100)
Cuesticon Label | Comprehension
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Sub questions

Question Number : 96 Question Id : 71939922134 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

AR o oG FIA-E TARR @1 aATAT IF 5T AT 57
Options:

1. % g

= R vy

3. ¥ GTEe

4 % gEuam

Question Number : 97 Question Id : 71939922135 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 98 Question Id : 71939922136 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
STl fore T 7o <t 27
Options:

1. % g

2. ¥ SmaEe

3. % giuiAr

4 % et ot fgq

Question Number : 99 Question Id : 71939922137 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % gy
o % A
3. ¥ g
4. % gw

Question Number : 100 Question Id : 71939922138 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Group Number :

Group Id:

Group Maximum Duration :
Group Minimum Duration :
Revisit allowed for view? :
Revisit allowed for edit?:
Break time:

Group Marks:

Revisit allowed for group Instructions? :

Maximum Instruction Time:
Minimum Instruction Time:

Section Id :
Section Number :
Section type:

Discipline 1

6
719399864
0

0
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No
0
20
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0
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719399974
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Online



Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 7193991172
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 71939922139 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

which of the following type of thinking is characterized by a predominance of actual objects and events and
the absence of concepts and generalization?

Options:

1. #¥ Inductive thinking
Z % Deductive thinking
3. % Concrete thinking

4. % Abstract thinking

Question Number : 101 Question Id : 71939922139 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TEmET # B 9 Ji g iaw aegal A uearet & Uw mgEdT oY sreramonatt o S & arquieid & T 87

Options:

1. ¥ smAdaEHE BEd
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Question Number : 102 Question Id : 71939922140 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhich of the following is MNOT one of the attitude of the effective teacher?

Options:

1. ¥ Passing and responsibility

2 % Encouraging creativity

3. ¥ Fostering individualized instruction

4. ® Sensitively accepting diversity

Question Number : 102 Question Id : 71939922140 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 103 Question Id : 71939922141 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhich of the following is NOT a method that stimulate divergent thinking?

Options:

1. # Brainstorming

2. % Free writing

3. % Keeping a journal
4. % Mind Calibrating

Question Number : 103 Question Id : 71939922141 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 104 Question Id : 71939922142 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
According to Carl Jung, which of the following is NOT a general characteristic of an introwvert?

Options:

1. % Neglectful of ailments and personal belongings
2. ® Rather reserved

2. % Lacking in flexibility

4, % Easily embarrassed

Question Number : 104 Question Id : 71939922142 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 105 Question Id : 71939922143 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Which of the following isare ways to enhance motivation in children?

1. Give children opportunities to evaluate their own accormplishrment.

II. &llow children ample time when working to allow for persistence.
III. Flaytime should be structured and organised.

Options:

1. ¥ Both [ and II

2. % Both II and III
2. % Both I and III
4 % [ IIand III

Question Number : 105 Question Id : 71939922143 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1.1 qarll 2=t

o % 11 el Eet
3 % ] FuTI 2=t
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Question Number : 106 Question Id : 71939922144 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

which of the following are important points that should be considered while selecting any teaching - learning
rmaterial?

[ Age appropriate
II. Level appropriate
ITI. Awvailability

IV, Creative use
Options:

1. ® I, 1l and III

2 % I Il and IV
3% [ Iland IV
4 [ 11, [l and IV

Question Number : 106 Question Id : 71939922144 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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[ ST JTgH

Il ¥% I0H
I11. Ic=edT

Y. T TcAS T
Options:
1. % [ 11 eIl



2. % II, III = IV
3% [ I qar v
4 9111, 111 J9r IV

Question Number : 107 Question Id : 71939922145 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following are cormrrmonly identified skills in the teaching - learning process?

[. Slall in putting question

IT. Skill i introducing the topic
ITI. 5ldll in non - werbal cues
I%. Skill in explanation

Options:

1. % I, IIandIII
2. % I Il and IV
2% [l and IV

4. % 111, Il and IV

Question Number : 107 Question Id : 71939922145 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % I, 11 99rlll
2. % I1, III Jem I
Z% I I qamIv

4, 110, 111 qr IV

Question Number : 108 Question Id : 71939922146 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following can be defined as the process of giving revards and punishment to the children?

Options:

1. % Enhancerment
2. % Consolidation
2. ¥ Reinforcement

4. % Accornpanirnent

Question Number : 108 Question Id : 71939922146 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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2. % Higrga
3. ¥ ggdimm

4 ® gy

Question Number : 109 Question Id : 71939922147 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
‘Choice of challenge’ is a characteristic of which of the following?

Options:

1. #* Values

= % Discipline
2. ¥ Motivation

4. * Inclusive education

Question Number : 109 Question Id : 71939922147 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
et T e RrfaaT i & Rrad R 27
Options:

1. % geg

2. % arqamEd

3 ¥ IR

4 & gEreT

Question Number : 110 Question Id : 71939922148 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhich of the following is/are type(s) of value?

I. Moral

II. Cualtural
III. Tniversal
I%. Spiritual

Options:

1. % 1, 11 andIII
2. % 1L I and IV
3% [l and IV

4. % 111, Il and IV

Question Number : 110 Question Id : 71939922148 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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1. AT
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Options:
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2. % 1, I q9m1V
3% I qer v
4 9111, 111 J9r IV

Question Number : 111 Question Id : 71939922149 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
isfare the collective conscience and unwritten constitution of 2y SoCiety.

Options:

1. * MNorms
= % Roles
2. ® values

4 % Both norms and values

Question Number : 111 Question Id : 71939922149 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 112 Question Id : 71939922150 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which sociologist laid emphasis on the role of education systern in the preservation of society and culture?

Options:

1. ¥ Emile Durkheim
2. % John Dewey

2. ® Ivan Illich

4 % Karl Marx

Question Number : 112 Question Id : 71939922150 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 113 Question Id : 71939922151 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

which sociologist observed that the teaching process, teaching method and language makes a difference
betwesn oppressors and oppressed?



Options:

1. ®* Pierre Bourdieu
= ¥ Paulo Freire

2 % Karl Marx

4. % Talcott Parsons

Question Number : 113 Question Id : 71939922151 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 114 Question Id : 71939922152 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& teacher should know the cross-cultural understanding of the community where the school is. This can be
done through which of the following?

[. Exploring about the diversity in cormurmnunity
IT. Avoiding bias and preconceptions

Options:

1. % Cnly I

2. % only II

3. ¥ Both I and 11
4. % DMNeither [ nor I1

Question Number : 114 Question Id : 71939922152 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % aal

2 ® FaAll

3 ¥ ] Farll 3Ft
4, % ATErIATEIII

Question Number : 115 Question Id : 71939922153 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

which of the following is NOT a function of School Management Cormurittes as per Right to Education Act,
Z0o9y

Options:
1. % Monitor the working of school



2. ¥ Encourage parents to punish their child
3. % Prepare school developrnent plan

4. % Monitor utilisation of grants

Question Number : 115 Question Id : 71939922153 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TrieET & & w1 ar T & s afeiem, 2009 ¥ AW T9d aed diHid ®1 0% & 51 a7

Options:
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Question Number : 116 Question Id : 71939922154 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The 74th amendment added municipalities in which part of Indian Constitution?

Options:
1.9 [HA
2 %X
3% HIA
4. % HII

Question Number : 116 Question Id : 71939922154 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1. ¥ 1A
e % ¥
3. % HIA
4. % HII

Question Number : 117 Question Id : 71939922155 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is not a part of six theories of knowledge and truth?

Options:

1. # The Revelation theory
2. % The Coherence theory
3. ¥ The Dogmatic theory

4. % The Intuition theory

Question Number : 117 Question Id : 71939922155 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 118 Question Id : 71939922156 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following is correct order of curriculum developrmnent?

1. Evaluation of objectives
2. Formation of objectives
2. Implimeting teaching - learning experiences
4. Selection of teaching - learning experiences

Options:

1.% 2,1, 4
2 ¥ 2 431
% 2,541
4 % 2.1 43

Question Number : 118 Question Id : 71939922156 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1.% 2,1, 4
2 ¥ 2 431
% 2,541
4 % 2.1 43

Question Number : 119 Question Id : 71939922157 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which sociologist defined religion as unified system of beliefs and practices related to sacred things?

Options:

1. % Karl Marx

2. % Ermnile Dukhiem
2. % Talcott FParsons

4. % Maclver and Page

Question Number : 119 Question Id : 71939922157 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:



1. % oTef AT

2. ¥ THEA gEH
3. % IEeie UTEed
4. % BTy gur o

Question Number : 120 Question Id : 71939922158 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

To live at one level, disregarding the total process of life inwvites

Options:

1. #¥ Happiness and money
2. ¥ Misery and destruction
3. % Enlightenment

4. % Great knowlaedge

Question Number : 120 Question Id : 71939922158 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Group All Questions: No

Sub-Section Number: 1
Sub-Section 1d: 7193991173
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 71939922159 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Modern education

[. is developing the interact.
II. offers more and more theories and facts.

Options:

1. % only 1

2 % only I

2. % Bothand II
4. % IMNeither [ nor I1

Question Number : 121 Question Id : 71939922159 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 122 Question Id : 71939922160 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
To determine the readiness of children to learn, the teacher needs to hawve some knowledge of children’s

I. Ernotional dewvelopriernt
II. Intellectual deweloprrient

Options:

1. % Cnly I

2. % only II

3. ¥ Both I and 11
4. % DMNeither [ nor I1

Question Number : 122 Question Id : 71939922160 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 123 Question Id ; 71939922161 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

which of the following irmitative behaviour is related to the responses of the model not to hisfher behavioural
characteristics per states?

Options:

1. # Modelling effect

2. % Inhibitory effect

3. % Dis-inhibitory effect
4. % Eliciting effect

Question Number : 123 Question Id : 71939922161 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 124 Question Id : 71939922162 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In a classroorm, for teaching various parts of a plant, a teacher instructs each student to bring a sample of
plant from home to the class. Later, she divides the students into small group of five students and asks them
to draw figures of the plant and label them. Ev doing 50, which of the following benefits is she expecting?

[. Developing social qualities like helping, sharing and accepting responsibility.
II. Pooling combined resources for successful cornpletion of the task.

Options:

1. % Only I

z. % COnly 11

2. ¥ Both [ and 11
4. % DMNeither [ nor I1

Question Number : 124 Question Id : 71939922162 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1. % Faal

2. ® Faell
2. ¥ [ qarll =t
4, % ATErIATETII

Question Number : 125 Question Id : 71939922163 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

o which of the following parameters, a teacher should measure the success of hisjher lesson plan to
ericourage discovery learnirg among his/her students?

I Increase in relevance of questions asked by students.
II. Conviction in students in challenging opinions of other students, teacher and textbooks.
ITI. Frequency with which students ask questiorn.

Options:

1. ® land Il

2. % [landIII
2 % JandIIl
4 % [ II and III

Question Number : 125 Question Id : 71939922163 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % [ 397ll

2. % 1 Tarlll
Z.% [ eIl
4 %1, 11 qarlll

Question Number : 126 Question Id : 71939922164 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhich physiologist worled on Classical Conditioning?

Options:

1. * EF. Skinner
2. ¥ [van Pavlov
= % Piaget

4. % Eandura



Question Number : 126 Question Id : 71939922164 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 127 Question Id : 71939922165 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What are vour roles as a teacher in the construction of knowledge of vour students in the classroon?

[ Supporting cooperative and collaborative learning in the classroorm.
II. Connecting the activities in the school with those outside the school.
III. Encouraging self-analysis and self-assessment of their learning progress.

Options:

1. ® land Il

2. % [landIII
2% Only I

4 % [ II and III

Question Number : 127 Question Id : 71939922165 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % 1 9rll

2. % 11 Ferlll
3 % a1

4. % [ 11 T4l

Question Number : 128 Question Id : 71939922166 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following are the usefulness of competency based approach in teaching-learning process?

[. It keeps the learner away from rote memorization.
II. What students learn today cannot be forgotten tomorrow.
III. Assessments of competencies are directly linked with the objectives of learning experience.

Options:
1. % JandlIl
2. % ITandIII

3 % landlll



4. % 1,11 and III

Question Number : 128 Question Id : 71939922166 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % [ qumll

2. % 11 FUTII

S% [ FuTlll
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Question Number : 129 Question Id : 71939922167 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Dermonstration method of teaching is a

Options:
1. % teacher centered method

2. # subject centered method
3. ® learner centered method

4. % competency based method

Question Number : 129 Question Id : 71939922167 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 130 Question Id : 71939922168 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
IDEAL model for problem solving was developed by

Options:
1. % Bransford

2. % Ballord
= % Bandura

4 % Lev Vygotsky

Question Number : 130 Question Id : 71939922168 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
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Options:

1. ¢ demig

2 ® gdAE

3 % g0

4 % o TR

Question Number : 131 Question Id : 71939922169 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

______ intelligence according to Gardener helps individuals to recognize and make distinction about others’
feelings, intentions and respond accordingly.

Options:

1. ¥ Intra-personal
2. % Inter-personal
2. % Musical

4. % Linguistic

Question Number : 131 Question Id ;: 71939922169 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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3. ® g@rigaT
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Question Number : 132 Question Id : 71939922170 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the fOllOW‘iI‘lg are the characteristics of the learning —centred education?

[. Teaching and as5es5ing are interwovern.
II. Teacher and studernts evaluate learning together.
III. Emphasis is on generating better questions and learning from errors.

Options:

1. ® landll

2. % [landIIl
2. % JandIIl
4. % 1 11 and III

Question Number : 132 Question Id : 71939922170 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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1. ® 1 qarll

2. % 1l qarlll
3% [ Ferlll
4. % 1 11 qom il

Question Number : 133 Question Id : 71939922171 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In which of the following areas of learning, does Co-operative approach have a positive effect?

[. Acadermic achieverrert

II. Collaborative behaviour

III. Cross—cultural understanding

[V, Relationship and attitudes towards disabled students

Options:

1. % [, IIand Il

2 % I Il and IV
2% [ Il and IV

4 ¥ 111, 111 and IV

Question Number : 133 Question Id : 71939922171 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % [, II 99rlll

2. % 11, III qem IV

3% [ I IV

4 % 111, 111 J2m Iy

Question Number : 134 Question Id : 71939922172 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which methods isjare used for examining Collaborative learning processes?

1. Conversation analysis
II. Statistical discourse analysis

Options:

1. % Only I

2. % Only 11

3. ¥ Both I and 11
4. % DMNeither [ nor I1

Question Number : 134 Question Id : 71939922172 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 135 Question Id ;: 71939922173 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhat is the role of a teacher in enhancing physical climate of the classroom?

[. To encourage students for beautification of the classroom walls with paintings and activity charts.
II. To ensure safe and secured conditions of the building in which the class functions.
III. To encourage students to share different activities like cleaning, disposal of garbage etC. among themselves.

Options:

1. % TandIl

2. % [IandIIl
2 % landIIl

4 % [ 1l and III

Question Number : 135 Question Id : 71939922173 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1. % [ q9rll

2. % 11 Farlll
3% [ Ferlll
4 & [, 11 9rlll

Question Number : 136 Question Id : 71939922174 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhat is[are the roles of the teacher as a classroom manager?

I. Teacher has to plan meticulously the learning activities, provision of material and assessment strategies in
adwvarnce.

II. The teacher has to ensure that every child in the class realize their right to participation and right to
Organization.

Options:

1. % Only ]

2. % Only 11

2 ¥ Bothland Il



4. % Meither I nor I1

Question Number : 136 Question Id : 71939922174 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 137 Question Id : 71939922175 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The dictionaries and grarrmars derive their value from ______.
Options:

1. #* human behaviour

2. % environmert

2. ¥ speech corrrmmanity

4. % the price of the book

Question Number : 137 Question Id ;: 71939922175 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1. ® g R
2. % giedar

3. ¥ AT gEEE
4 % uEqE BT HHT

Question Number : 138 Question Id : 71939922176 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following can be called as the features of “language”?

I. Larguage remains completely same throughout one state in a country like India.
II. Language can reveal social identity of the speaker.
I1I. Cur choice of words while we speak shows which place we belong to.

Options:

1. ® landll

z ¥ [1and Il
2 % JandIIl

4 % [ 1 and III



Question Number : 138 Question Id : 71939922176 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % [ q97ll

= ¥ 11 qer il
3% [ g9l
4 % [ II q9rlll

Question Number : 139 Question Id : 71939922177 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following languages belong to Indo-Argo family?

I. Hindi
II. Nepali

IIl. &s553ITese
IV. Purjab

Options:

1. % [, IIand Il

2. % Bothland IV
2% [ Il and IV

4 ¥ 111, 111 and IV

Question Number : 139 Question Id : 71939922177 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % 1,11 34rlll

2 ® [ guTlv =t
3% I J9r v

4. 91101, 111 Jem IV

Question Number : 140 Question Id : 71939922178 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Mathematization is regarded as constituting the higher aims of mathermatics and it includes

I. Visualization
II. Optirmisation
III. I'E}]I'ESEHtEltiOH

Options:



1. % [Iandlll
2 ® landIll

3. % landlIl

4 1 11 and III

Question Number : 140 Question Id : 71939922178 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 141 Question Id : 71939922179 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

“&fter understanding the topic of fractions, a student asks a few questions from his/her teacher.” The abowve
staternent indicates which sequential phase of 5 E's learning model?

Options:

1. % Evaluation
2. * Explanation
2. ¥ Elaboration

4. # Exploration

Question Number : 141 Question Id ; 71939922179 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % graimd
2. % et
3. ¥ TEaw
4 % aremuy

Question Number : 142 Question Id : 71939922180 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following is/are the examples of
deductive method of teaching mathematics?

L. If we have to find the square of (112)%, then we can
use the method of (a + b =a?+ b? + 2ab
II. If we have to find the value of (C!%/C?), then we
can use the law of indices i.e. (a®/a%) = a==

Options:

1. % Only I

2 % Cnly I

3. ¥ Both I and II

4 % MNeither I nor 11

Question Number : 142 Question Id : 71939922180 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % Sae]

o % Al
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Question Number : 143 Question Id : 71939922181 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhich of the following is/are the instructional objectives of mathematics?

I[. To develop in the child the power of thinking and reasoning.
II. To perform computations with speed and accuracy.
III. To understand and get acquainted with different coins.

Options:

1. % TandIll
Z % Only 11

3. % [TandIll
4. % 1,11 and III

Question Number : 143 Question Id : 71939922181 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TrieiET # & @ M W S aTeAE S5 87
1. =iz # |l 97 T e o AT & T den

11, F5aT T T oF 9IET 0T F AT

111, Taferg Mgt & SHemT 33 ugam=-m
Options:

1. % 1 qurlll

2 % Fadll

3. % 1] qurlll

4 1, 11 F9rlll




Question Number : 144 Question Id : 71939922182 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
FProcess of reflective thinking includes which of the following?

I. Inventing
II. Theory Building
11l Generalizing

Options:

1. % JandIll
2. % [landIIl
3. ¥ [Tand I

4. % Cnly 11

Question Number : 144 Question Id : 71939922182 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % [ 4TIl
2. % 1 Tarlll
3.9 11 qem il
4 % Fadll

Question Number : 145 Question 1d : 71939922183 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following statement is correct about Mathematical thinking?

I. Mathematical thinking consists of solving problerm and posing problems.
II. Mathernatical thinking requires the skills of precise thinking and logical reasoning.

Options:

1. % Only I

2. % Only 11

3. ¥ Both I and 11
4. % DMNeither [ nor I1

Question Number : 145 Question Id : 71939922183 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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4, % ATErIATETII

Question Number : 146 Question Id : 71939922184 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following is not a phase of & E's learning model?

Options:

1. % Exploration phase
2. % Engagernent phase
2. % Evaluation phase

4. ¥ Exarmination phase

Question Number : 146 Question Id : 71939922184 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % aredgur arEeeT

2. % e e
3. % graie ST
4. & T STEreET

Question Number : 147 Question Id : 71939922185 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Ev which of the following method of teaching mathematics, a teacher can help the children to apply the
concept of profit and loss from the textbooks during marketing?

I. Analytic method
II. PI"O_jECt method

Options:

1. % Cnlyl

2« Cnly I

3. % Bothland Il
4. % Neither I nor I

Question Number : 147 Question Id : 71939922185 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 148 Question Id : 71939922186 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following examples can help the students in connecting their knowledge with the life outside the
school?

I. Going market with their parents and observing and participating in the way of buving and selling of goods
and also understanding the approach of buver and seller.

II. & frog climbs 60 meters on a pole in a day and slides back 50 meters in a night. If the pole is 100 meters
high, thern how many days the frog will take to clirmb to the top of the pole?

Options:

1. % Only I

2. % Only 11

2. ¥ Both [ and II
4. % DMNeither [ nor I1

Question Number : 148 Question Id : 71939922186 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % aal

2 ® FaAll

3 ¥ ] gl gFt
4, % JUErIATEIII

Question Number : 149 Question Id : 71939922187 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

______ refers to the application of concepts, procedures and methods developed in mathermnatics to the objects
of other discipline or at least of other fields of knowledge.

Options:

1. % Simplification
2. % Generalization
2. ¥ Mathematization

4. % Specialization

Question Number : 149 Question Id : 71939922187 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 150 Question Id : 71939922188 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the given sentence that has an error in it If there is no error, choose To error,

The greatest advancernent (1)) in modern technology 15 (2)) the inwvention with cormputers (2] No error (4)
Options:
1.% 1
2 %2
3.9 3
4 % 4

Question Number : 150 Question Id : 71939922188 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the given sentence that has an error in it If there is no error, choose To error,

The greatest advancerment (1)) in modern technology is (21 the invention with computers (2] Mo error (4)
Options:
1.% 1
R
3 ¥ 3
4 % 4

Question Number : 151 Question Id : 71939922189 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Zhoose the word that is opposite in meaning to the given word.

Harmony
Options:

1. % skill
2. % undo
2 % accord

4. ¥ discord

Question Number : 151 Question Id : 71939922189 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Zhoose the word that 15 opposite in meaning to the given word.

Harmony
Options:

1. % skill

2. % undo
2 % accord
4. ¥ discord



Question Number : 152 Question Id : 71939922190 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
_hoose the word that is opposite in meaning to the given word.

Expernsive
Options:

1. * dear
2. % costly
3. % plenty
4 ¥ cheap

Question Number : 152 Question Id : 71939922190 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Zhoose the word that is opposite in meaning to the given word.

Expensive
Options:

1. % dear
2. * costly
I % plenty
4 9 cheap

Question Number : 153 Question Id : 71939922191 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
“hoose the word that means the same as the given word.

Modern
Options:

1. % obsolete
= % merry
3. worldly

4 % current

Question Number : 153 Question Id : 71939922191 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
_hoose the word that rmeans the same as the given word,

Modern
Options:

1. % obsolete
2. % merry
3. % worldly

4 % current

Question Number : 154 Question 1d : 71939922192 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Zhoose the word that can substitute the given senternce.

Absence of government
Options:

1. ® plutocracy

2. % apostate

2. ¥ anarchy

4. # theocracy

Question Number : 154 Question Id : 71939922192 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Zhoose the word that can substitute the given sentence.

Absence of government
Options:

1. # plutocracy

Z. % apostate

3. % anarchy

4. % theocracy

Question Number : 155 Question Id : 71939922193 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the word that can substitute the given sentence.

A person who spends very little
Options:

1. * drey

2. % claque

3. ¥ miser

4 * stojc

Question Number : 155 Question 1d : 71939922193 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Zhoose the word that can substitute the given senternce.

& person who spends very little
Options:

1. % drey

2. % claque

3. ¥ riser

4. % stoic

Question Number : 156 Question Id : 71939922194 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



In the following question, cut of the given four alternatives, select the alternative which best expresses the
meaning of the Idiom Phrase.

To take sormething to heart

Options:

1. %* stand out of the way

2. ¥ to be greatly affected by something
3. % toreach a crises

4. ® gzsume responsibility for

Question Number : 156 Question Id : 71939922194 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following questiorn, out of the given four alternatives, select the alternative which best expresses the
meaning of the Idiom | Phrase.

To take something to heart

Options:

1. * stand out of the way

= ¥ to be greatly affected by something
3. % toreach a crises

4. % assume responsibility for

Question Number : 157 Question Id : 71939922195 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

| the teacher to excuse me.

Options:
1. % told

2% ta)]
= % asle
4 % asked

Question Number : 157 Question Id : 71939922195 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
& sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

I ______ the teacher to excuse me.
Options:

1. % told

2. % tell

3. % ask

4. ¥ asked

Question Number : 158 Question Id : 71939922196 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



which of the following Kohlberg's stage of moral developrnent works best in two-person relationships with
family members or close friends, where one can make a real effort to get to know the other’'s feelings and
needs and try to help?

Options:

1. # Uriversal principles

2. % Maintaining the social order

2. % Social contract and individual rights

4. % Good interpersonal relationships

Question Number : 158 Question Id : 71939922196 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 159 Question Id : 71939922197 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In practice, Skinner's follower often deal with species-specific behaviour as the topography of a

[ human being
II. resporse

Options:

1. % only 1

2+ Cnly 11

3. % BothlandlIl
4. % Neither I nor II

Question Number : 159 Question Id : 71939922197 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % aal

2 ¥ Fadll

3. % [ Farll 3Ft
4, % ATErIATEIII

Question Number : 160 Question Id : 71939922198 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



What 15 socialization process?

I. & process by which societies induce their mermbers to behave in socially acceptable ways,
II. & process by which societies are induced by their members to behave in socially acceptable ways.

Options:

1. ¥ Cnly

2. % only 11

2 % BothlandII
4. % DMNeither [ nor I1

Question Number : 160 Question Id ;: 71939922198 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Sub-Section Number: 1
Sub-Section 1d: 7193991175
Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 71939922199 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Howr tany reasons are behind the Erikson’s theory being a stage theory™

Options:
1.%1
2. % 2
3% 3
4.9 4

Question Number : 161 Question Id : 71939922199 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Options:
1.% 1
2. %2
=% 3
4 ¥ 4

Question Number : 162 Question Id : 71939922200 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhich of the following statement(s) isjare correct regarding creative expression in EVS?

I. Creativity enhances ability to manage change.

II. Creative expressions can be very useful in developing the affective domain.
III. Creativity stimulates learning.

Options:

1. % Only I

2. % BothlandIl
2. % EBoth II and III

4. %1, 11 and III

Question Number : 162 Question Id : 71939922200 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
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Question Number : 163 Question 1d : 71939922201 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

which of the following can be a learning objective in EVS lesson plan while teaching about living and non -
living things?

Options:

1. % Students could tell the characteristics of living and non - living things.
2. % stdents will differentiate between artificial and natural things.

3. % Students can draw the diagrams of living things.

4. % Students will be able to name all the non - living things.

Question Number : 163 Question Id : 71939922201 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 164 Question Id : 71939922202 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhich of the following is NOT a learning objective in EVS to be considered while assessing?

Options:

1. # Tounderstand children’s analytical abilities.
2. % To know about evaluation skills.

3. ¥ Use single variety of testing technique.

4 % Give feed back.

Question Number : 164 Question Id : 71939922202 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 165 Question Id : 71939922203 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhich of the following is MNOT one of the aspects of Socio - cultural environment?

Options:
1. % MNorms
= % Traditions



2. % Customs
4 " aArchitecture

Question Number : 165 Question 1d : 71939922203 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. ® gres

2. % R

3. % T

4. e

Question Number : 166 Question Id : 71939922204 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Wwhich of the following exercise can teacher give to her (his students to teach about living and non-living
things in EV5Y

Options:

1. % Aszk the students to write about artificial and man-made things.

2. ¥ sk the students to list living and non-living things that they see around thermn.

3. % Ask the students to copy the example of living and non-living things from their textbooks.

4. % Aslk the students to memorize examples of living and non-living things from their textbooks.

Question Number : 166 Question Id : 71939922204 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 167 Question Id ;: 71939922205 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following statements is/are true?

I. Fill-in exercises can be used for vocabulary.
II. Fill-in exercises do not require much active production of language.

Options:

1. % Only 1

2. % Only 1

% ¥ BothIand II
4. % Neither I nor I

Question Number : 167 Question Id : 71939922205 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 168 Question Id ; 71939922206 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Bool reviews

Options:
1. % help vou to decide on the suitability of a book.

2. % give a sense of achievement.
3. % show the pupils the new book and tell them what it's about.

4. % put the title of the new book on the notice board.

Question Number : 168 Question Id : 71939922206 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 169 Question Id ;: 71939922207 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following is not a reason for using storybooks?

Options:

1. ® Stories exercise the imagination.

2. % Stories are motivating, challenging and enjovable.
3. ¥ Listening to stories in class is a political experience.

4. # Storybooks develop children’s learning strategies.

Question Number : 169 Question Id : 71939922207 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 170 Question Id : 71939922208 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following occasions can be decided to use the childrens’ first language?

I. Predicting what cormes next in a story.
II. Discussing learning strategies.

Options:

1. % Only1

2. % Only 1

2. ¥ Both I and Il
4. % Neither I nor II

Question Number : 170 Question Id ;: 71939922208 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1. % Faal
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Question Number : 171 Question Id : 71939922209 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which story telling technique can be ignored?

Options:

1. ¥ Malking sound effects all the time.

2. % Encourage pupils to take part by giving them chances to repeat key vocabulary and phrases.
Z. ® Commentate on the story where needed and relate it to the children,

4. % Aisk questions to involve the children.

Question Number : 171 Question Id : 71939922209 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 172 Question Id : 71939922210 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



‘Shows global understanding of language in context’ would corne under which head?
Options:

1. ® Listening

2. % Speaking

3. ¥ Reading

4, % Writing

Question Number : 172 Question Id : 71939922210 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % g
2 % g
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4 % TaeEr

Question Number : 173 Question 1d : 71939922211 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhat do yvou mean by formulaic language?

Options:

1. % The type of english children produce in the early stages of language learning.
2. % The type of english children learn in primary classes.

Z. % The type of English children learn in their secondary classes.

4. % The type of English children learn while graduating.

Question Number : 173 Question Id : 71939922211 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 174 Question 1d : 71939922212 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What comes under “writing at word-level’ writing activity?

[. Labels for pictures
II. Word puzzles

Options:

1. % Only1

2 % Only 1

% ¢ Both 1and II
4. % Neither I nor II



Question Number : 174 Question 1d : 71939922212 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 175 Question Id ; 71939922213 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What 15 included in metacognitive strategies?

I. Freviewing
II. Self-correction

Options:

1. % onlyl

2+ Cnly 11

3. % Bothland Il
4. % Meither I nor II

Question Number : 175 Question Id : 71939922213 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 176 Question Id : 71939922214 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
To prompt children to use different strategies is a part of which role?

Options:

1. ¥ Interactive role
2. % Affective role
3. % Procedural role

4 % Behawioural role



Question Number : 176 Question Id : 71939922214 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 177 Question Id : 71939922215 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhat are the tips for effective classroom use of digital wideo?

[. Farniliarise yourself with the website fmedia etc.
II. Watch a sequence several times before showing it 50 you know when to pause.

Options:

1. % Cnly I

2. % only II

3. ¥ Both I and 11
4. % DMNeither [ nor I1

Question Number : 177 Question Id : 71939922215 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 178 Question Id : 71939922216 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What are the certain ground rules that will to be negotiated with children to ensure an inclusive learning
ENVIrQnITent?

I. Independent learning in pairs or Sroups requires co-operation, not cormpetition.
II. Children need to share materials so they all have access to the task.

Options:

1. % Cnly I

2 % Only I

2. ¥ Both I and II
4. % NMNeither [ nor I1



Question Number : 178 Question Id : 71939922216 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 179 Question Id : 71939922217 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What 15 stage 4 called in productive corputer session?

Options:

1. ¥ Before the cornputer ftablet frmobile ses5101.
2. % After the cornputer [tablet [mobile session.
2. % During the computer [tablet [mobile session.

4. % There is no stage 4 in productive Corrputer Ses51011.

Question Number : 179 Question Id : 71939922217 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 180 Question Id : 71939922218 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following is not a part of a teacher’'s role?

[. Perspective Kole
I1. Frocedural Role

Options:
1.9 Cnly I

o ® Cnly I
2. % Both [ and II

4 % MNeither I ror 11

Question Number : 180 Question Id : 71939922218 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Disciplines
Group Number : 10
Group Id: 719399868
Group Maximum Duration : 0
Group Minimum Duration : 120
Revisit allowed for view? : No
Revisit allowed for edit?: No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Disciplines
Section Id : 719399978
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 7193991176
Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 71939922219 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What do you mean by consolidating vocabulary™?

[. Encouraging children to create their ol picture dictionaries.
II. New words that are learnt quickly are needed o recyCle regularly to aid retenticn.

Options:
1. % Only
= ¥ COnly 11



. % BothlandlIl
4. % Meither I nor II

Question Number : 181 Question Id : 71939922219 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 182 Question Id : 71939922220 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
which of the following is NOT a type of learning resource in social science?

Options:

1. % Place Value Cards
2. % Diorama

2. % Time - Lines

4. % Graphs

Question Number : 182 Question Id : 71939922220 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 183 Question Id : 71939922221 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25

According to National Curriculum Framework (NCF), 2005 which of the following statermnent(s) is fare correct
regarding teaching History at the upper primary stage?

[. &t the upper primary stage, History must focus on developrments in India.

II. At the upper primary stage, History will take into account developrnents in different parts of India, with
sections on events or developments in other parts of the world.

III. At the upper primary stage, History will only take into account development in different parts of India.

Options:
1. % I, 1T and III

2. % Only 11
2. % Only 1



4, ¥ Cnly I

Question Number : 183 Question Id : 71939922221 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % 1,11 Flll
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Question Number : 184 Question Id : 71939922222 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following activity jactivities can be given to the students to teach about ‘cultural diversity in
India™

[. &sking one student to read about cultural diversity in the class.
II. Asking the students to list different cultures of India and write their features.
III. Asking students to write about the different dimensions of cultures of India and prepare a chart on it

Options:

1. % [, IIand Il

2. % Only I

2% Only I

4. EBoth II and III

Question Number : 184 Question Id : 71939922222 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
et & 2 |t nidfet mh et oat @ R § Segide Didar & e # R @ Ty S S awd gy

1. T H Fiegide fieredT & o | U 573 &1 U3 o ol g
II. mﬁaﬁwﬁrﬁﬁﬁﬁwﬁﬁaﬁmmﬁwaﬁﬁmﬁaﬁﬁaﬁ%ﬁqwgﬂ
111, F7= 1 AT &1 Gega ] o Torerg ST o are # o 90T 39 U8 UaF =1E JT & o Toid g

Options:

1. % 111 Flll
2 % Fadl

. % FEAlll

4. ¥ 11 FaTlIl 2+t

Question Number : 185 Question Id : 71939922223 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following is an acadernic discipline incorporating fields such as surveying, geographic
information systerns, hydrography and cartography?

Options:



1. ¥ Spatial Science
2. % Human Geography
3. % Pedagogy

4. % Areal Differentiation

Question Number : 185 Question 1d : 71939922223 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 186 Question Id : 71939922224 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhich of the foll-::-wing dr'e DUrposes of assessment in social sciences at elementary level?

[. Identify the individual needs and requirements.

II. Improve teaching learning process.

III. Do away with the fear of assessment among children.
I%. Encourage children to learn individually.

Options:

1.9 1, 1landIII
2. % [ I and IV
2% I I and IV

4. % [ I, [l and IV

Question Number : 186 Question Id : 71939922224 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1.9 1, 11 Tl

2. % [ I IV

2% 01 100 e IV

4. % [ II, II1 9TV

Question Number : 187 Question Id : 71939922225 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

An article is sold at a discount of 25%. If marked price of article is Es. 6000, then what will be the selling price
of article?



Options:
1. % Rs. 4500

2. % Hs 4200
3. % Hs 4800
4. % Hs. 5400

Question Number : 187 Question Id : 71939922225 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % 4500 w3

2. % 4200 T

3. % 4800 w0

4 ¥ ©400

Question Number : 188 Question Id : 71939922226 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AABC and APOR are congruent to each other. If AC = 12 cm, then what will be value of PE?

Options:

1. % 10cm
2. % 18cm
2 % 15cm

4 ¥ 12cm

Question Number : 188 Question Id : 71939922226 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AABC T2T APQR. U gH{ & G1TEH g1 9ig AC = 12 9.0 §, 91 PR &7 01 &7 5177

Options:

1. % 10 &6
o % 1g9HAr
3. % 15T
4 & 12 9HAT

Question Number : 189 Question Id : 71939922227 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following are related with “Prior negative experiences with mathermatics”?

[. Unfavourable school climate

II. Lack of encouragement from parents and [ or teachers
III. Lack of positive role models

[W. Ethnic and for gender stereotypes

Options:
1. % 11, Il and IV
2 I I and IV

2 % Il andlll



4. % [, 1l and III

Question Number : 189 Question Id : 71939922227 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 190 Question Id : 71939922228 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following propertie(s) of circle isare correct?

1. Opposite angles of a cyclic quadrilateral are supplermnentary. ABCD is cyclic quadrilateral as its vertices lie on
the circle.
II. The degree measure of an arc is equal to twice the measure of angle inscribed in the opposite arc.

Options:

1. % only 1

2 % only I

3. ¥ Both I and 11
4. % DINeither [ nor I1

Question Number : 190 Question Id : 71939922228 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1. % Faal

2 % Faall
2. ¥ [ Fomll gt
4. % FTErIATRIII

Question Number : 191 Question Id : 71939922229 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



In which of the following way we can represent a data regarding the population of five different countries in a
particular year?

[. Table
II. Bar graph

III. Histogram
IV, Pie chart

Options:

1. % TandIIll

2 % 11 11 and IV
2 VI 1T and IV
4. % JandlIl

Question Number : 191 Question Id : 71939922229 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
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Options:

1. % 1J9rlll

2. %11, 101 F9m Iy
39100, 101 9T ly
4 % 1 qarll

Question Number : 192 Question Id ;: 71939922230 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following cormbination is not Correct?

Options:
1. % (dx - 3) = (2%) — Multiplication of a monormial with a polynormial
Z % Zu x 3y — Multiplication of monormials

3. ¥ (Sx) - (2x) — Division of monomials

o (9x% — 15xy) + 3x — Division of polynomial by a monomial

Question Number : 192 Question Id : 71939922230 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 193 Question Id : 71939922231 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Wwhich of the following statements regarding inductive reference method of teaching science in teaching-
learning process are COrrect’?

I. In this method, knowledge is self-acquired and is transformed into wisdorm.
II. Learning by doing is a basis of this method.
III. It develops the habit of keen observation boosting critical thinking in students.

Options:

1. * BothlandII

2. % Both II and III
2. % Both I and III

4. %1, 11 and III

Question Number : 193 Question Id ; 71939922231 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 194 Question Id : 71939922232 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the f-:}ll-::-wing approach to teaching science in classroorn is totally teacher centerad?

Options:

1. ¥ Expository transmission approach
2. % Discovery approach

2. % Inquiry approach

4 % Hands on experiments approach

Question Number : 194 Question Id : 71939922232 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 195 Question Id : 71939922233 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

which of the following methods used in discovery approach to teaching science isfare based on inductive
thinking?

I. Open discovery method
I[I. Guided discovery method
III. Deductive discovery rmethod

Options:

1. % Only I

2. % Both [ and II
2% Only 11

4. % Cnly 1

Question Number : 195 Question Id : 71939922233 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 196 Question Id : 71939922234 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

which of the following isare the characteristics of investigative science identified by a teacher in the science
classroory

. Fupils hawe to malke their owrl decisions.
II. Mo inwvestigation will allow pupils to use every kind of investigational procedure.

Options:

1. % Cnly I

2. % only II

2 ¥ BothlandII
4. % DMNeither [ nor I1

Question Number : 196 Question Id : 71939922234 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 197 Question Id ;: 71939922235 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following activities are involved in the interactive stage of pedagogical analysis?

[. Giving feedback.
II. Deciding on expected 1€arner's responses.
I1I. Deciding methods japproaches of stimulus presentation.

Options:

1. ® Both [ and II

2. % Both II and III
2 % Both I and III

4. % 1,11 and III

Question Number : 197 Question Id : 71939922235 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 198 Question Id : 71939922236 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following is/are the aspects of educational evaluation in teaching learning process?

[ Content

I1. Learning ohjectives

III. Learning activities

[V, Evaluation proceduras

Options:

1. % I, IIandIII

2 % I Il and IV
2% [l and IV

4 %111, 111 and IV

Question Number : 198 Question Id : 71939922236 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 199 Question Id : 71939922237 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhich is essential for implementation of inclusive education?

[. Teacher education
II. School leadership

Options:

1. % only I

2. % only 11

2. ¥ Both I and 11
4. % DMNeither [ nor I1

Question Number : 199 Question Id : 71939922237 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 200 Question Id : 71939922238 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following is a benefit of inclusion for students without 5 EMN.?

I. May serve as per tutors during interactional activities.
II. To learn to comrmunicate and deal effectively with wide range of individuals.
III. Zhance to learn about many hurman device professions.

Options:

1. ® land Il

2. % [landIII
2 % JandIIl
4 ¥ 1 11 and III



Question Number : 200 Question Id : 71939922238 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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